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1 2 3 4 5 6 7
DD 1»03A045YCUC Uit 58,400.0 171,900.0 274,500.0 303,000.0
01 AU _ 20268 ~UasUAL a°12T12U 12&2Ua6AUa80U°8 0.0 6000.0 9000.0 12000.0
(1 ATal
01 |1.@3id»T3A3YC SRESTIT3RICY THEYCTST3Y 3¢31640A140Y 0.0 3,000.0 6,000.0 6,000.0
AT Waic» T3CY IBEE»AC TY I »E3-Cr3T3Y 1363130 U3Y
§83flrf ~~ 63AUSTARAIUY»AC O»EUu»AU3Y T3Eéx»i! Na1T3 T4l 0.0 3,000.0 6,000.0 6.000.0
2. HEYCI3T3Y 3¢31640A0a5Y UCeN=3U30Yu3(CY UG TanaiuY»icy 0.0 1,500.0 1,500.0 3,000.0
AT plaicr» T3ICY TSEE»AC TYT»E3-Cr3T3Y 136313.U3Y
§83filnfi ~* §3AUS TARAIU»AC Or6UpAUSY TSEsl NaLT=Ta1 00 1,500.0 15000 30000
e e
3. |>>EY(;I L Y = ¢ 1040AUA0Y U=itaiu 6a0C3E313Y 13é3UatAladYY»ii 0.0 1,500.0 1,500.0 3,000.0
U3713ai0a0 D I-Y»nCY
AT plaicr» T3ICY TSEE»AC TYT»E3-Cr3T3Y 136313.U3Y
§83FilR  E2AUS TARAIUYHAC OreuAUSY T2ErA} a1 T2 140 00 1,500.0 1,5000 30000
04 T3A26AUa6U °7 TATAd6AUA6U 20,000.0 44,500.0 64,500.0 84,500.0
(1 ATal
1. 83RAE3YC ACT 3 U/t ¢»éaioU3Y N3UST30-C T3¢40640U ~ U»T
03 USEY38oYIC TIVCIC THASVARA- Al 2,400.0 6,000.0 9,000.0 12,000.0
AT plaic» T3ICY TSEE»AC TYT»E3-Cr3T3Y 136313.U3Y
§T3ACT3E Yana- &UY»AC ISEé»i! Na1T314ai 2400.0 6,000.0 9,000.0 12,000.0
2. @3iaYC -0400C U/t Y»AuCY N3A13AUSY SREST3YUY»fi 1,500.0 3,000.0 4,375.0 6,000.0
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1 2 3 4 5 6 7
AT Widic» T3ICY TBE&»AC TY T »E3-Cr3T3Y 1363130-U3Y §2[k
T=63aiAlaVY»iC O6upAUSY T3Eei! NatT=Tat 15000 3,0000 43750 6,000.0
3.7, >IT3BYCACT 20/ Y»AUCY NSALSAUSY SRE3ST3YUY»A 5,250.0 10,875.0 13,325.0 17,500.0
AT Waic» T3CY TBE&»AC TYI»E3-CI3T3Y 1363130-U3Y §2[k
T263laiAla TG O»6upAUSY T3Ee»ii! NatT=Tai 22500 108750 133250 17,5000
4, T=13€C ACT 2 U/1 »iTal USEY3R»YUC T3YCUC T3é40640U 2,400.0 6,000.0 9,000.0 12,000.0
AT Wiic» T3ICY IBE&»AC TY T »E3-Cr3T3Y 136313A-U3Y
STSACTSE KCYSASAaiAlSY [SEwh! At iSTai 2:400.0 6:000.0 90000} 120000
5. Uai=1aieC ACT 3 U/t ¢»éai0U3Y N3U3T30-C T36456400 ° Y»AuCY
B M2RI2Y SRES T2V 2,300.0 5,750.0 9,200.0 11,500.0
AT Wiic» T3ICY IBE&»AC TY T »E3-Cr3T3Y 136313d-U3Y
STSACTSE ACV3ASAaAISY [3Eeyi! 6302 Na2T=Ta1 2:300.0 5:750.0 920001 115000
6. @3U»YCEC U/ Y»AUCY NSALSAUBY SRE3T13Y0»f 1,750.0 3,375.0 5,000.0 6,500.0
AT Waic» T3CY TBE&»AC TY 1 »E3-Cr3T3Y 1363130-U3Y §2[f
T263laiAlaIV TG O6uAUSY T3Ee»il Na1T=Tai 1,700 33750 >0000 65000
7. &3YC ACT 3 U/ »fiTas US&Y3B»YuC W3YCuC T=é4i04ail 3,000.0 6,000.0 9,000.0 12,000.0
AT Wiaic» T3(CY IBEE»AC TY T »E3-Cr3T3Y 136313d-U3Y
STSACTSE KCYSASAaAlSY [SEwh! NatiSTai 3,000.0 6:000.0 900001 120000
8. M»ONATCHC ACT 1 U/2 »ATas USEY3B»YUC 3YCUC T=é45040U 1,400.0 3,500.0 5,600.0 7,000.0
AT Waic» T3(CY TBE&»AC TY T »E3-Cr3T3Y 1363130 U3Y
§T3ACT3E RCY=SA=natAl3Y 123 Eex»i! Nati=Tai 1,400.0 3,500.0 56000 7,0000
05 2@20x2a2padAUuasU 5,400.0 5,400.0 5,400.0 5,400.0
31 AT4iU
05 |1. I=3136C IYYI3U3Y T3YCUC »A3Yaia-ail 5,400.0 5,400.0 5,400.0 5,400.0
Ae T Widic» T3CY IBEE»AC TY1»E3-Cr3T3Y 1363130 U3Y
§T3ACT 3t YaRa- aiUY»AC T3Eex»i! Nati3Tar 5:400.0 5:400.0 5400.0 5:400.0
08 ~U2T12582020£U-T1agasU=2E TUT98a6AUasU 5,000.0 25,000.0 33,100.0 33,100.0
3(1 AT4iU
04 |1. @31CY3045U EU»EA0 GRS TSAC T»AST3640640U 1,400.0 7,150.0 10,000.0 10,000.0
AT Widic» T3ICY TBEE»AC TY T »E3-Cr3T3Y 1363130 U3Y
§T3ACT 3 RCYSAZNAIAISY 123 Eex»i! NatT=1ar 1,400.0 7:150.0 10,000.0 10,000.0
2. 83f&E3YaiU GTe " EU»tas ci=- 1C Y»AUCY 63Y0C I»A3Yafa - 45U 1,400.0 7,150.0 10,000.0 10,000.0
AT Widic» T3ICY TBEE»AC TY T »83-Cr3T3Y 1363130 U3Y
§T3ACT 3t YaRa- aiUY»AC T3Eéx»i! Nati3Tai 1,400.0 7,150.0 10,000.0 10,000.0
3. T3A»YCTaU U»T A303U36C EU»EAS ¢ii= - 1C T=645045U 1,600.0 5,600.0 8,000.0 8,000.0
aC» T =UCY T2EE»NG -anl 26213y 1263130 U3Y S T3a0 13t
RS A2AATAIRY [2EeA! IAI2 14T ‘ 1,600.0 5,600.0 8,000.0 8,000.0
4. _ASEWCTN3U3(YUC - 3%3W3A¢ 136466400 600.0 3,000.0 3,000.0 3,000.0
AT Waic» T3(CY TBEE»AC TY T »E3-Cr3T3Y 1363137 U3Y
STSACHSE (CYSASAAAISY TSEeHi! Nat 13 Taf 600.0 30000 3,000.0 3000.0
5. I»WCI N=2U3(YUC EUxtal ¢ii=- IC UBEY2TC »fi=VYana- ail 0.0 2,100.0 2,100.0 2,100.0
AT UlAicy T3ICY IBEE»AC TY T »03-CT313Y 1363137/ I3Y
AET Paic» T3UCY 1SEE»AC TYT»E3-C1313Y 1363131 -U3Y 0.0 2.100.0 2.100.0 2.100.0
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1 2 3 4 5 6 7
MUas02TUTC@a6AUa8U, 2UT282UL£U °T &3=2ULFU
10 TUToea6A0A00, OTU=" A51 26AUAGU 13,000.0 23,000.0 49,500.0 49,500.0
3(1 AT40U
1. HEYCT213Y 3¢3T64aiAl4aiY Ric3T= UCe3 T3¢ A3Na3YasAl=Y
06 |istionial wy=07a0 P63 T313Y TSMUSIniQ4AI VricY 3.0000 3,0000 30000 3,0000
AT Waic» T3CY T2 E&»AC TYI»E3-CT3T3Y 1363130-U3Y §2[f
T3635AIAVYC OvelpriU3Y T2Eévil NALT=TAT 3,0000 3,0000 1,4000 3,0000
07 |1 M»0=0=u=T4U Eanu=0CY NaiC i»AsST3Y - YaiU 700.0 1,400.0 3,500.0 3,500.0
AT Wiaic» T3ICY IBE&»AC TY T »E3-Cr3T3Y 136313d-U3Y
ST=ACTSE VaRA- 410V»AC T=Eevh! NALTi= 147 700.0 1400.0 3,500.0 3,500.0
2. M»03fi0asYCuail 4éa-U3Y ¢z r3ng 136456400 600.0 1,350.0 3,000.0 3,000.0
AT Waic» T3CY TBE&»AC TY T »E3-Cr3T3Y 1363130 U3Y
§T3ACT3E RCYSA3naiAIZY I3Eé»i! Nati=T4ai 600.0 1.350.0 3,0000 3,000.0
3. 1 30=30»Yail 4éa-U3Y ¢i= T3¢ i»i=3Yana-ail 2,100.0 3,500.0 7,000.0 7,000.0
AT Widic» T3ICY 1BE&»AC -4AT363T3Y 1363T3-U3Y §T34CT3t
Yafa- ailY»fic T3Eé»f! Nati=3Tal 2,100.0 3,500.0 7,000.0 7,000.0
4, 130T3R»YC TC&3T364006 chi3USAC RCYSAZNAAISY 31314l 620.0 1,395.0 3,100.0 3,100.0
AT Waic» T3CY TBEE»AC TY T »E3-Cr3T3Y 1363130 U3Y
§T3ACT3E RCYSA3naiAIZY I3Eé»i! Nati=Tai 620.0 1.395.0 3,1000 3,1000
6. E3a30plaon N=3U30Y0C 4é4-U3Y cA313AC I»i3Yana-ail 600.0 1,350.0 3,000.0 3,000.0
AT Wiaic» T3ICY IBE&»AC TY T »E3-Cr3T3Y 136313d-U3Y
§T3ACT3E Yana- aUY»AC ISEé»f! Na1T31ai 600.0 1.350.0 3,000.0 3,000.0
7. TSE3TY N3U3(YUC 4é4-U3Y ¢33 T3AC 1»i3Yana- ail 600.0 1,350.0 3,000.0 3,000.0
AT Waic» T3CY TBEE»AC TY T »E3-Cr3T3Y 1363130 U3Y
S§T3ACT 3t Yana- AUY»AC TBEex»i! Nari3Tai 600.0 1.350.0 38,0000 3,000.0
8. TaA N=2U30YUC 4é4-U3Y ch3T3AC i»A3Yana-ail 320.0 720.0 1,600.0 1,600.0
AT Wiic» T3ICY IBEE»AC TY T »E3-Cr3T3Y 136313d-U3Y
ST=ACTSE VARA- 410V»AC T=Eevh! NA1i= 147 3200 7200 16000 1600.0
9. 8@31CY3! 464-U3Y cAST3AC I»ASYana - 4il 4,460.0 8,935.0 22,300.0 22,300.0
AT Waic» T3CY TBE&»AC TY T »E3-Cr3T3Y 1363130 U3Y
S§T3ACT 3t Yana- AUY»AC TBEex»i! Nati314ai 4:460.0 8,935.0 22,3000 22,3000
25 _UaoU=2"23ad6Auasl, b2U0g=2ULU p202T1a0°8
1 (=06=64aiAl=0p =éx»(Cuc), PEU282826UAa6U <1 5,000.0 5,000.0 10,000.0 15,500.0
~“U=2a2pa=20a6AUuasU
3(1 AT4iU
06 |1. 630 ¥%291-C UCcadat U3hng 6@0-Y»iC %h3 - 3064il 5,000.0 5,000.0 10000.0 15,500.0
AT Wiic» T3ICY TBE&»AC TY 1 »E3-Cr3T3Y 1363130 U3Y §2[k
1263(45A045YY»AC O»éuu»Al3Y T3Eé»i! Nari=Tai 90000 90000 10,000.0 15,500.0
12 T62UeaasT 21 124 10,000.0 63,000.0 103,000.0 103,000.0
31 AT4iU
07 [1. 1=i=é N3U=30Yuc N=3U3YU3(CY x3Y383ANY»AC NCUYSYaf4 - 45U 0.0 10,000.0 20,000.0 20,000.0
AT Widic» T3ICY IBEE»AC TY T »83-Cr3T3Y 1363130 U3Y
§T3ACT3E Yana- aUY»AC TSEé»i! Na1T314ai 00 10,0000 20,0000 20,0000
2. &3Y N3U3(yuc N3U3Yu3(CY x3Y3&37NY»A¢ NCUYSYana - 450 5000.0 17,500.0 25,000.0 25,000.0

1385




1 2 3 4 5 6 7
AT Wiaic» T3ICY IBEE»AC TY T »E3-Cr3T3Y 136313d-U3Y
§T3ACT 3t Yaia- ailY»AC T3Eex»i! Nati3Tai 5000.0 17,5000 25,0000 25,0000
3. O30u=A=T N3U030Y0¢ N=20=0Y0=30CY x=2Y2A3ANY»AC NCUY3YaRA - aiU 2300.0 11,300.0 15,000.0 15,000.0
AT Waic» T3CY TBEE»AC TY T »E3-Cr3T3Y 1363130 U3Y
§T3ACT3E Yaia- &UV»AC T3Eé»A! Nari=Tair 2300.0 11,3000 15,0000 15,0000
4. 1301»YCe N2030YuC N3USIYu3ICY x3Y=2A3ANY»AC NCUY3Yana - ail 0.0 5,000.0 10,000.0 10,000.0
AT Wiaic» T3ICY IBE&»AC TY T »E3-Cr3T3Y 136313d-U3Y
STSACTS: Vafia- &UV»iiC [SEex! Ra1 IS TAT 00 5,000.0 100000} 100000
Ba1A0YC 02030C NBU3BIYIC NBU3IYLBICY x3BY3SA3BANY»A
5 ZSATANGC USOIUC NSUSIYUG NSUSIYUBIEY xSYSASANT-AC 0.0 7,500.0 15,000.0 15,000.0
NCUY=Yaria - alu
AT Wiaic» T3ICY IBEE»AC TY T »E3-Cr3T3Y 136313d-U3Y
STSACTS: Vafia- &UV»iC [SEexi! Na1 IS TAT 00 7:500.0 1500001 150000
6. Uan=wane N3U30Yac N3U3(Yu3(cY x3Y3A3ANY»A¢ NCUY3Yania- ail 2700.0 11,700.0 18,000.0 18,000.0
AT Waic» T3CY TBE&»AC TY T »E3-Cr3T3Y 1363130 U3Y
STSACYSE Yana- &0»iC [SEe»i! Na 1S Tai 2700.0 11,7000 1800001 180000
Db T3 1408C Uit 106,900 219,800 277,000 303,000
3(1 Arasl
01 AU _D=20268 “UasUAE a°12T12U 12&20a6AUas0U°3 12,000 31,000 31,000 36,000
3(1 Afail
1. @3HhE»TSABYC SRESTIT3UUC SRESTIT»0»AC I»A3%CY4U
01 |A=USYST3T1Co W»EYCT3(C " T3AC UCcadY»iat, 1i=Y6Co (- W i»ka 0.0 0.0 0.0 5,000.0
T=/4040A064Y Y»AC u3A0A=6400 /- 460UC O»élu»fiasl/
AT Wiaic» T3ICY IBE&»AC TY 1 »63-Cr3T3Y 136313d- U3Y §2[k
STUCTY»AC O»éuu»il3Y T3Eé»i! Nati3Tai 0.0 00 0.0 90000
2. BCcR3U30Yu3(CY UGS T4MAiUY»ACY, NBUSB(YUY»AC UCASAIASYY»ACY
yOV=YE3T=Y e Toalan 0.0 8,000.0 8,000.0 8,000.0
A Wiaic» T3CY TBE&»AC TY1»E3-Cr3T3Y 13637134 (3Y
SAYAZ4CT Y»AUCY 3t TASYey»An3ICY ix3aY»i! Na1i31ai 0.0 8,0000 8,0000 8,000
3. DBUBYOY»AC SRES1ST3%UC SRE3T310»AC i»AS3%CYaU
A=U3YST3T06 T»EYCT3(C ™ T2 &G UCcadY»iat, tA=2YACH O - W i»al 0.0 5,000.0 5,000.0 5,000.0
T=3na040A045YY»fiC p3a0A=64iU
AT Widic» T3ICY IBE&»AC TYT»E3-Cr3T3Y 136313A-U3Y §174600
- sSHUS (ARG AL TS TAT 0.0 5,000.0 5,000.0 5,000.0
— L e
4}. (? Inf/z~a?U N UUYU33UCY 40846UY3I3Y I»YiaYC NCUYAIU /T=3A=10C 4,000.0 10,000.0 10,000.0 10,000.0
i»A3Yana-ail/
AT Widic» T3CY 1B EE»AC TY 1 »E3-Cr3T3Y 1363134-U3Y
§T3ACT3E Yaia- ailY»AC T3Eex»i! Nati3iar 4,0000 10,0000 10,0000 10,0000
5. @3A1T3Y06 CA3» TAIAIBY 3026400, TY1»8aiAl3Y %3f-3603VA
Ya3ETA0, USHih YoRT=026Y40 WrO» T3 WAIC UCCAGAT 5,000.0 5,000.0 50000 5,000.0
AT Widic» T3CY 1B E&»AC TY1»e3-Cr3T3Y 1363134-U3Y
SAVA=OCT YoRUCY 20 WASVay»iw=ICY Tx2Avshil NA1i= 147 5,000.0 5,000.0 50000 5,000.0
6. T»0313Y VED-Y»AC (N»646803AY I»AaiAl4asYY»AC) aiA»0=646U 3,000.0 3,000.0 3,000.0 3,000.0
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1 2 3 4 5 6 7
AT Widic» T3CY 1B EE»AC TY1»E3-Cr3T3Y 1363134-U3Y
SAVASOCT YoRICY SiE TRSYey»w3igy ix3av»nl Nari=Ta 30000 30000 30000 30000
04 T5A206AUa0U 21 TATA0AUA6U 14,200 52,800 62,000 62,000
31 ATéU
2RA03T3Y RuYUsAC UBAL31I3NECXY»AC " E303NA3A3BA3T Vi
03 |1 - NA0ZISYEYISAC, USWASESNCXYAC ™ ESOSNASASASIY-AC 9,200 36,800 46,000.0 46,000.0
»3Yana-ail
AT Waic» T3CY TBE&»AC TY T »E3-Cr3T3Y 1363130 U3Y
§T3ACT3E Yana- aUY»AC T3Ee»i! Nari31ai 9200 36,800 46,000.0 46,000.0
3( Aal
“»A0Bp»ALC UCCYST3A- TANAOC W3YCUC T»A3Yaf4-ail 2,600 10,400 13,000.0 13,000.0
2(-»NaiCWw¢ UCcYST=30- 1ARA6C TSYCUC I»A=Yana- ail 6,600 26,400 33,000.0 33,000.0
2. _ &fa63T3Y -ailuc Yan=64il 0.0 6,000 6,000.0 6,000.0
AT Waic» T3CY TBE&»AC TY I »E3-Cr3T3Y 1363130-U3Y §2[k
ST CIV»AC O»élu»il3Y TSEéx»fi! Nati3Tai 0.0 6,000 6,000.0 6,000.0
S
3. D=2U={Vu={gY URSTAGA=(CY GGBEY»AC R»YU3(CY &3(U=3YY»Aic 5,000 10,000 10,0000 10.000.0
U3i»E3140U
3(1 AT
2A1 3p»fitC URSTAAC T3Y T3YCUC I»A3YaRa- 4iU 5,000 10,000 10,000.0 10,000.0
AT Waic» T3(CY TBE&»AC TY T »E3-Cr3T3Y 1363130 U3Y
§T3ACT3E Yana- aiUY»fC T3Eex»f! Na1i31ai 5,000 10,000 10,0000 10,0000
05 28a0x242pa6Alasl 2,000 19,000 19,000 19,000
31 ATéU
1. A&CTECYCT3Y»AC, N»é=3Taf NSUS0YUY»AC SUpakt31anc3Y»Ac,
05 HASAT»>T»AC 3E3¢CY O- YATAISY &=h=-3Y»fal 3a3Naiail, 2,000 19,000 19,000.0 19,000.0
»fA3Yana-ail
=3[ A4l
E=3RA=é631( pash. 3Upak3ranc3ic i»n3Yana- ail 2,000 5,000 5,000.0 5,000.0
A& pladc» r3(CY TSEE»AC WY T»E3-CT313Y 1363 13.-U3Y
ST3ACT 3t YaRa- AUY»AC TSEe»i! Nar i3 14T 2,000 5,000 50000 50000
2. DCT3Y13YA0Y»AC ASU3YST3TC6 63n03 Tanaily»nai 3a3Naiail 0.0 14,000 14,000.0 14,000.0
3(1 A4
E=2uanaslaact 6303 1anail ICA3uaA3T3Y p3A3vYuavuc N=3U=h 0.0 14,000 14,000.0 14,000.0
AT Widic» T3(CY TBEE»AC TY 1 »83-Cr3T3Y 1363131 - U3Y §4i00
- sSRUS ARAIT»AY LTS TAT 0.0 14,000 14,000.0 14,000.0
é20£2E2T2U 2a2pai a6AUasU ©1 éadok2e2120
06 252pa1 2626A0A0U 5,900 13,000 13,000 13,000
3(2 Afal
05 |1. T»fi»A¢ EY300C u30=30=3(CY T»YWRAYY»AC I»A=3Yana - ail 5000.0 10,000 10,000.0 10,000.0
AT Widic» T3ICY TBEE»AC TY T »83-Cr3T3Y 1363130 U3Y
§T3ACT3E Yana- aUY»AC TSEé»i! Na1T314ai 5000.0 10,000 10,0000 10,0000
T3UBTAAYSAC RBFEAUDY (T YT RAYC) 13 - B340 »ACTSE3ALY A
2. T3UBTaAY»AC RBAAUBY (T»YRAYC) %31 - 30400, »ACTSE3ALY»AC 900.0 3,000 3.000.0 3.000.0

Rc3YaiU T3USTARY»AC RSAAUSY EA3YAIU
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1 2 3 4 5 6 7
3(1 Afai
Z2h3(CY »ACTSESAL2T3Y T»YTRAYC I»A3Yana-ail 900.0 3,000 3,000.0 3,000.0
AT Wiaic» T3ICY IBE&»AC TY T »E3-Cr3T3Y 136313d-U3Y
STSACTS: Vafia- &UV»iC [SEe! Ra1 I TAT 900.0 3000 3,0000 3,000.0
08 ~U=2T=25820=20£0-TagasV=2E TUT2éa6AUa6U 0.0 0.0 8,000.0 20,000.0
(1 ATaiU
04 [L3%3U3TSTASBAUSY I»AZT3Y-Val - 343yCT3640U 0.0 0.0 8,000.0 20,000.0
(1 AT4iU
uavy L] TN Tl ImiA L] T aIIaUI))II\{ L] AT U | | IHII\,:
umacTRARL : il - 0.0 0.0 8,000.0 20,000.0
AT Waic» T3CY TBE&»AC TY T »E3-Cr3T3Y 1363130 U3Y
STS&CTSE Vaia- UV>iC [SEel fatiSTai 00 00 80000) 200000
MUas0=2TUTCéa0AUA8U, 2UT2&2ULU 2T «d32ULU
10 TUToea0A0A6U, OTU=" 251 26AUA6U 52,000.0 52,000.0 52,000.0 52,000.0
=(1 AT4iU
07 |1 T3ATAYCIC (C3A WYT3VIAIAC O»élp»fiail 10,000.0 10,000.0 10,000.0 10,000.0
AT 1A6es T 3ICY IBESsAC 1Y T »E3.C1T3T3Y 13a3T3/.I3Y 82
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